
19/03/19     AMM 25     Les aires : Conversions 
 

Je vais faire des schémas.  
Le petit carré représenté a 1dm de côté. 
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A = c x c  
  = 10dm x 10dm 
  = 100dm2 
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A = c x c                             A = c x c  
  = 100cm x 100cm                    = 1m x 1m 
  = 10.000cm2                                       

= 1m2 
 

1m2   =   100dm2  =   10.000cm2                                        
 

km2  hm2  dam2  m2  dm2  cm2  mm2 

      1, 0 0 0 0 0 0 

      1 0 0, 0 0 0 0 

      1 0 0 0 0, 0 0 

1, 0 0 0 0 0 0 0 0 0 0 0 0 

1 0 0 0 0 0 0, 0 0 0 0 0 0 

1km2  =   1.000.000m2 


